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1 Fxtf 62 1kkdokkkdokkxx79374 2400
2 o 55 62 okskstokdokokdokk 1 4047 2400
3 Frxid 62 Ltttk 80279 2700
4 Bk 62 | kkstokskdokokxkk53797 2400
5 TR 62 1kkdokkkdokk k420759 2700
6 Wyt 62 Lsksiokskestokokk k73159 315
7 R s il 62 1 kkskkkskkkxk k04635 2400
8 Gkl 62 1 kskskskskskskokskkk 4 7757 840
9 Tt 62 [okkeksktdtookk95592 2400
10 xR 62 Disksekraktoiok 7707 1 2100
11 Phay 62 [okiekktdotookk65898 525
12 YK 62 1 kskskskskskaiokskxk 9096 1 315
13 Tk R 62 1kkdokkkdokk k423485 2100
14 ZEHPR 62 1 kkdokkkdokkxk51894 2100
15 ] 62 1kkdokkkdokkxx45778 2100
16 Sk 62 1 kkdokkkdokk k425309 420
17 Sex 62 Ltrtioriiorkk 58212 1800 20244E1 1 H4 H Fatth, AR S BRI AN I b
18 Jil* ¢ 62 1 kkdokkkdokkxx76957 2100
19 X1 62 1kkdokkkdokk k448700 630

20 FLxdE 62 1 kkdokskkdokk k449450 420
21 BN 62 1kkdokkkdokkkk 1 7620 315
22 fLxik 62 Dtk 69385 210
23 FLxAE 62 Ltrroriiorkk 1 3024 2100
24 FLxg 62 1kkdokkkdokkx:27240 315
25 g f) 62 1kkdokkkdokkx 27010 105
26 P 62 1 kkdokkkdokkx%4391 3 735
27 i 62 Doktekskrtotookk4 5007 2700
28 TR 62 1 kkdokkkdokkx:56037 2100
29 FLx#fF 62 Dokttt 29335 525
30 fLxH 62 Ltrriirkk 70296 420
31 gRx R 62 1kkdokkrdokkk %8444 1 2100
32 ik 77 62 Dokttt 84540 210
33 A 62 1kkdokkkdokk k09750 210
34 = 62 1 kkdokkkdokkx%74606 2100
35 IR 62 1kkdokkkdokk 498260 630
36 He s 62 Dskkkkttokk6 3968 2100
37 xR 62 1kkdokkkdokk 469056 2100
38 Fxl 62 1 kkdokkkdokk 488876 2100
39 S 62 1kkdokkkdokk k456060 2400
40 AL 62 1kkdokskkdokkxk51772 315
41 Mrokfze 62 1kkdokkrdokkk 47401 2100
42 TEKH 62 1 kkdokkkdokk k458038 2100
43 iy 62 1 kkdokkkdokk k449265 2700
44 ek 62 1 kkdokkkdokk k446032 2100
45 Hk I 62 Dokttt 27742 2100
46 ik R 62 1kkdokkkdokkx 443418 525
47 TR 62 1kkdokkkdokk k420170 2100
48 st 62 1 kskskkkskskkkkk 34773 945
49 [ERel 62 1 kkkkkkkkrxk34764 280 20244 10 F L B WARAERS, AT BESEBRAUR A A (1 4h B
50 Hixidk 62 1 kkdokkkdokkxx23194 735
51 Ty 62 1 kkokkkdokkx%68404 2100
52 xR 627 kkdokkkdokkx %9217 2100
53 [ AR 62 1 kkdokkkdokkx 53526 2400
54 S 62 Ltttk 6 3229 2100
55 YRR 62 1 Hkxkkkkkdokk ] 3843 2700
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56 w2z 62 1 kkstoksksdokokk k2271 1 2400
57 [k, 62 L sksiokskeksdokokk%65890 630
58 FEAIE 62 1 sksisioksksekokk65999 2400
59 Tk 62 1 ksksdokkoskok ok k(05923 525
60 B 62 Diskekrrotorkk 22642 2100
61 Sxiy 62 iskekekerekiookk 02789 2700
62 Vo e 62 Dskekrtetorokk 27490 2700
63 FHilH 62 Dsiksokxiokiok 32901 2700
64 Fxdr 62 1 kkstokskdokokk k56346 2700
65 etttk 62 Dwickiokokkiok 37870 420
66 FERER 62 1 ssksiokskekstokokek k30672 840
67 o7 62 Dikiokiok:89730 735
68 A 62 Lskekrrotorkk 82702 420
69 2 62 1 kskskskskskskkokkk 71847 420
70 A 62 Ltttk 68453 2100
71 Pyt 62 1 dkskdokkskok k6276 1 210
72 [ 1% 62 1 ssksksskkskok ok k88796 2100
73 T 5 62 Ikttt kx4 4670 525
74 S 62 | skeksiokskeksiokokkk 80454 315
75 LIEN 62 1 kskskskkskskkokkk 39479 2100
76 Bk | 62 1 sksictoksisekstokek [ 4199 2400
77 Zs Pl 62 1 sksksteksterskokkk 83178 2400
78 ekl 62 1 kkstokskdokk k498658 2400
79 kA 62 Dtk xiokiok63101 2400
80 P If 62 1 kkstokskdokk k490066 2400
81 Sk 62 1 kkskkkskskkkkk 74805 2400
82 SR 62 | Hksisioksisekatokek 24750 2100
83 Ll 62 Lksrrrkk 77289 2100
84 e 62 1 kkstokskdokkxk k08523 2100
85 b= 62 Lskkkkkkokk+k82354 2100
86 Skt 62 1 kkstoksksdokkk %9235 | 2100
87 Bk 28 621 kxdokkxdkkxx38401 2100
88 T 62 1 ssksksskskskokdkok k(04859 2100
89 eyt 62 1 kkstokskadokok k496462 2100
90 W F 62 | kkstokskdokkx k26655 2100
91 [ I 62 1 sksisioksksektokek6 1 109 630
92 FER 62 1 sksitoksisiokekokek 2574 1 840
93 St 62 1 sksiokskekstokokk k68602 525
94 kx> 62 1 skeksiokskekstokokk k77956 315
95 ok 62 1 sksisiokskskekdokek 67652 840
96 LR 62 1 sksistoksisoktokok 44343 735
97 i B0 5sskkkskskekstotekok 063 7 840
98 TERR 62 1 kksdokskdokkk k57135 2100
99 Mg 62 | ksksiokskeksiokokkk 39384 840
100 Tk 62 1 sksistoksisekstokok | 8632 525
101 S 621 kxskkkdokkx%65847 2100
102 EXS 62 1 kkstokskdokokk 1 8574 2100
103 T My 62 1 sksistoksksekatokek 7 1572 840
104 Rk 62 1 kkstokskdokkx 403836 2100
105 [k 62 Hkskstokdoksk 4ok k699 30 945
106 Ffsk7* 621 xkskskkkskskkkk 50977 525
107 Al 62 1 kkskkkskskkxk k36667 2700
108 Al 62 1 kkskskstskskskkkk6384 1 2700
109 Ak 621 kkkiokiokkx 73529 630
110 A 62 Dswiokiokokkior 12940 2100
111 Hx 605k x%2537 2700
112 R 62 Dwickiokokkior 10050 2400
113 Sk 62 1 skkstokstekstokkk 27300 2400
114 Sl 62 1 kskskkkskskkoxkk94433 525
115 PR BH 62 1ssksksikekseketokk 30397 2100
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116 [Wx g 62 1 kkstokskdokkx %26 109 2100
117 Bk 62 Diskekktoriork 2309 1 2700
118 EXT S 62 1 ssksksoskskskokkok k81516 2100
119 Sk 62 ] skekstokstokskok k56789 2400
120 K3y 62 1 ssksksokskoskokkok k48425 2100
121 Py 62 Dkskskkrrrkrk49155 315
1922 Syt 62 1 sksisiokskkeokokk 98375 315
123 JE[H] 62 1 Hoksictokstokdokk 27928 210
124 AL 62 1 ssksksskskoskokdok k69642 2100
125 At 621 kkkikirkx 10540 945
126 % 62 Lrrkrrkkx92175 735
127 g 62 Dikiokokiok 73146 2100
128 Ze#4J4 62 1 dsksksoskskskokkok k63537 2100
129 Sxy 62 1 kkskkkskskkoxk k44858 630
130 Al 62 Lkwkokkpkokkx 31942 2400
131 R AL 62 Lksrsirkkk 16049 2100
132 [t 62 1 sksisioksisekdokek608 39 735
133 BRI 62 Dwikiok k699459 735
134 Py 62 | sksisioksisekokk 54365 420
135 IR 62 1 ssksksdskskakokskxk 49777 2100
136 SR 62 1 dsksksoskskoskokkok k89324 2700
137 Sk 62 1 kskskkkskskkxkk (00752 315
138 ST 62 1 ssksksskskskokdkok k33868 2100
139 P 62 1 kkskokkkdokkx%82669 420
140 Sk 62 | seksisioksioekdokek 34852 420
141 YEESYS 62 1 kkskkkskskkxkk85226 210
142 ki 62 1 sksksskskskokdkok k(09268 2100
143 ST BH 62 1 sksksteksterstokkk (09367 735
144 JT*3C 62 1 dsksksskskskokdkok k3351 8 2100
145 SR 62 1 sksistoksksektokek 580 10 630
146 ekt 62 1 kskskstkstkskokkok4 1772 210
147 Ak 62 Dwikiokokkiok54375 2700
148 RoLES e 62 1 sksisioksisekdokek 60023 630
149 Yhx ik 62 1 kskskkkskskkxkk94276 2400
150 x4 62 1 ssksksoskskoskokkok k84975 945
151 ek 62 | kstolkeketokokk k47693 2100
152 PSP 62 1 sksistoksisekstokok | 5427 945
153 Py 62 | kstolkekatokokk k56427 2400
154 B R 62 Dkskkkkkkkkk 55715 2100
155 G A 62 1 kskskkkskskkoxk k94623 735
156 hxfk 62 | seksiokskeksiokokk k26354 525
157 A 62 Lksrskrkkk5 1756 2100
158 JE*E 62 1 ssksksskskskokdok k68002 2100
159 Bk 62 Dksksktkrkrkkk 56178 2700
160 R 62 [ sksksksdoksokskokskok 7401 2400
161 e 62 Ikkaoloalor k42700 2100
162 ity 62 1 sksistoksisekdokek 80072 420
163 - HH 62 1 kkskkkskskkxkk 55557 525
164 iz 62 | Hksiiokskokek ok k86868 315
165 Al 62 Dwikiokikkik 78766 2100
166 FxF 62 1 sksistoksisiokkokek 7966 1 945
167 it 62 I kpkkriolr k27542 2400
168 XY 62 | skeksiokskeksiokokkk8 1424 630
169 Sxify 62 1 kkstokskdokokx k14906 420
170 Vo4 62 L ssksiokskekstokokk%92 1 80 2100
171 Vo 62 Dsksolekortiork 9404 1 2400
172 yaEses 62 L skstokskeretokokk k8401 1 525
173 Sxtp 62 Lisksoekskerkiokk 0556 1 420
174 S 62 1 sksisiokskoskeoktokk90 774 630
175 Pt 62 1 skskssksioskokdok k30703 2400
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176 W4 62 1 ksksksdoksokskokkk 70998 1400 20244F 11 16 H i tt, AZEEAHRAH 4.
177 iR 62 1 kkstokskdokok k439046 2100
178 5% F) 62 1 sksisioksisekatokek (00442 525
179 [rx 62 Ixkskrrkrkxx99376 2400
180 EXYn 62 1 ssksksskskoskokok k47399 2400
181 LEPN 62 1 ssksksiokekseoketokok4 3242 2700
182 {4 62 1 sskskstoskskskokkokk 74451 2700
183 R ot 62 Lksrsrrnkx 23260 2100
184 M- 44 62 1 kksokskdokkx%20370 2400
185 ok fE 62 1 kskskkkskskkxkk 71085 2400
186 RUETY 62 1 sksistoksisekadokek 73207 840
187 TR 62 I kpkkriokrxx09476 2100
188 M 5L 62 1 ssksksskskskoksdkokk | 6975 2400
189 ok gk 62 1 kksteksterkkkk49305 840
190 i 62 1 sksisioksiskekdok k95692 2100
191 P 62 | ksiolkeketokokk k02867 2400
192 EEES 62 Lk 94062 2700
193 Wk 62 Dskekktotolk 71044 2700
194 RxZ% 62 1 ksksksoskskoskokdkokk 74086 2100
195 Sxff 62 1 skskstokskatokokakk 76270 735
196 Syt 62 1 Hksistokskokekdokk 37066 525
197 e D 605k kkkkok(0545 2400
198 P 62 [eksiskekstokekekok k9546 | 2100
199 e 62 | skskkketotokokkk 59802 2100
200 THs FH 62 Dsekttetokok0948 1 315
201 YR i} 621 kkskskkkskskkkk 19726 2700
202 HxE 62 Dskeksroiorkook 74194 2100
203 g 62 Distiokolior k87744 2100
204 B 60 5kkskskkstokekeok k8739 2100
205 R 62 Lk k482064 2700
206 [ 62 1kl 71943 2400
207 M s 62 Lskskssksksdoskokdkokk 77155 2400
208 e 62 Lekstskekstoksiekok k39807 210
209 ThaA] 62 1kl k466208 2700
210 T 62 |tk 45494 2100
211 Vo5 62 Dektkiorkk9 7245 315
212 T fly 605skskskskskkskokAok k8218 2100
213 Bk 605kl k%2646 945
214 Vo 62 1ststksketookokkk 16393 735
215 %35 62 Dskktiokok 26388 630
216 ynees 62 Leksisekstokekelok k3822 1 210
it 339750




